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Note :

Assertion (A) :

Reasoning (R) :

COMMERCE
PAPER - 111

This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

Buyers, for several industries, are potential competitors-they may integrate
backwards.
They have different degrees of bargaining power.

Ty

Code :
(1) (A) and (R) are correct and (R) is the correct reasoning of (A). .'.r‘;
(2) (A) and (R) are correct but (R) is not the correct reasoning of (A). i .
(3)  (A) is incorrect while (R) is a correct statement.
(4) Both (A) and (R) are incorrect. )
2. Which one of the following is the governing factor in dec1d1ng$the type of redressal agency
which will deal with the dispute of a consumer ?
(1)  Area of sale of goods and services "
(2) Type of goods and services sold F i
(3) The choice of the consumer I’ ' |
(4) The value of goods and services sold | ‘
3.  Match List - I with List - II relating to the roles playﬁg by government in an economy and
indicate the correct code of their magshmg aal
List - I List - 'iI
(Roles) { (Examples)
(a) Regulatory role d Deciding timing and usage of resources
(b) Promotional role - ( i)  Capital intensive projects of public sector
(c) Enterpreneurial role (iii) Imposing of high import duty
(d) Planning role « (iv) Measures to control and cover risk in priority sectors
Code : r
(@ (b)- () (d) !
M ) @ 6 G
@) @) 0 4 @) (@
@) i) @) ) ()
f@ o G F v\ (@)
4.  Which one of the following statement is not correct relating to Competition Policy and
Law ? -
(1) Collusion and dominance have potential for unfair competition.
(2) The appeal against decisions of Competition Commission of India can be made to the
+ Competition Appellate Tribunal.
(3) ¥ State monopolies, government’s business policies and functioning of Regulatory
" Authorities cannot be scrutinized under this law.
(4) Abuse of dominance rather than dominance should be the key for Competition Policy/
Law.
S T T —
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qrfuTs
Y9T-UA - 111
i : 39 YH-TF H UeE (75) d9g-fashedd U €1 U U 6 o (2) 31k T 1 |t yed Stfamd §
1. 2fyeRed (A) :  fafie @l & fau shar Hurer gfqantt € o tahied ®9 4 fise & 9 1

e (R) : o drer vt skt fafie fefimt v €
e :
(1) (A) 3R (R) &I 3TN (R), (A) 1 9 T 2| i
() (A) IR (R) T & SfFA (R), (A) F1 T o T ¥ 7 »
(3) (A) 7oA § S@fh (R) el oA T f ¥
4) (A) 3R (R) SHI e F

2. mﬁﬁwmmiwwmmw%ﬁmﬁw%wasma
FHIATE HLdl & 2 | : (
(1) el 3R Jansii & faset o &= // s

2) fat gg awgeii 3R Jansii &1 yHR /
(3) ST i TG | J
@) TR g el otk et e | /

3. sveforeEen H TR g Fr TR fte () F weft get 41wy g - 11 gifaa w5
ﬁ@?ﬁﬁ%ﬁaﬁl "'\\ f

Tt - 1 </ Tl - 11
(etd ) T ( SqTET)
(a) T * (@) ol % Emy SR e s i
(b) SuS wE (i) HRR & H YSH SFAURE TR
(c) o wr ' aka (iti) T AT HL A
(d) S wE W | (iv) o &= H feiEm iR shfew w1 A
%< q)
(@. (b)&(c) (d)
s (@) () () ) (i)
L@ @) @) fiv) | ()
(3) () (v) (i) @
@) () () fGv) (i)

4. Trofafed wum 4 § gfaegyt $ifq ok wrE & oo § F9 @ 98 7= 72
(1) 3wfaa faeast & fore ARy IR gya # e 7
(2)'y vTE ¥ st s 3 FoRi % faeg ot wfere stiei freope # w0 T ¥
(3) ~ U5 THITHHRI, TR i IREN el R Fames Wil & ®FRugd 369 ®ET &
= FefteT Tl &1 Wehdl |

(4) IS T EAN A R g yfqeast Hifa/ s & fow Fsi S =nfew )
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5.  Which one of the following is not correct with reference to standard costing ?

(1) Standard costing is a system where pre determined costs are used for control of entire
organisation

(2) Standard may be expressed in quantitative and monetary measures
(3)  Only adverse variances are investigated intensively

(4) Standard is determined for each element of cost

{
6. Which one of the following is not correct ? i F
. Profit q
1 Margin of Safety = —— . ,
@ & El P/V ratio Fe W J

. Change in Contribution \ ’
(2) P/V Ratio = : % 100
Change in sales J .
f I ."I
(3) Break-even point in units = Fixed cost l& 4

Contribution per lhﬁrt 2
b . ]
%
(4) Required sales to earn desired frofits = Des—1rew{&f1t
- y P/V ratio
Y4

7. Schedule III Part II qf the Companies Act, 2013 deals with which one of the following ?

(1) Format of Balafice Si’feet (2) Format of Profit and Loss Account

(3) Format of|Trading Account (4) Format of Cash Flow

‘4
rr ‘ |

8. | Which one of thefollowing statements is not true ?

(1) _When there is one liquidation and one formation it is known as external construction

(2) 7 Goodwill pr Capital reserve arises only when the amalgamation is in the nature of
merger

(3)% 4 Under the pooling of interest method, the transferee company incorporates the assets

. and liabilities of the transferor company at book value
r

(4) The vendor company transfers preliminary expenses (at the time of absorption) to equity
shareholders’” account

s | I ;
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5. YHY AN d@isd o Hed § fefafad # 9 %9 @ odt 1@t g ?

(1) THY AT oleieh Teh Ui © fore QU gied R e & fere g Freifia amm o1 v faman
SIS |

(2) T I " SR Hifgem Al § sAfvera feRan S HehRar < |
(3) Hod Uidewel fa=Rull ot = Tear ¥ i 9wt 2|
(4) WA % Yo acd o fIQ YHTY 1 FHERoT fopa S 21

L
6. TreAfafEd § 4 wH-91 9d T8 © 2 { §
‘ H
(1) GReT Suid =
/A S

-

A Y | giEdq ,{;
(2) JRIEIRCREINEES P—— >I? ,

3 ~fo=e fog sal # = —
(3) wH faig gﬁm ‘
( !
N Fifsd oy

4) anﬁaﬁﬁm&%qaﬁfaﬁﬁaﬁ e
AT/ AT ST

7. o sAfuf, 2013%343@111%1165[%?%@31?@%@8@%?

(1) ﬁ%aﬂgmiq (2) ¥ SR FH W H TET
(8) AR WA FIYEY (4) ke YATE 1 YET

8. Tyfafed # € i W e wel & ¢ ?
(1) 9 e T & iR e e # <8 A e e o 31
(2), el = Yol W 1SS IH A W § Selfh FAHCH W 1 Thfd H1 L <

(3) ¥ =TS & TR fafy o fara SAaredt Ul Siaien el % Haradl SR Al o1 THHE
Y& Jod T A T |

fagrar shu=T T STt o Wi # YR =33 (Hfaeraa & 99d) i TMiaid sl g1
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9. Statement - I: The least - cost or optimal input combination of labour and capital requires
that the marginal revenue productivity ratio of the two inputs should be
equal to their price ratio.

Statement - II : In a hypothetical production function of the following form
Q=-134+1512+10L
Where, Q= Quantity of the product and L=No. of variable input (labour), the marginal
physical productivity of labour is —L%+15 L+10.
Code :
(1) Both the statements are true. f{
(2) Both the statements are false. /
(3) Statement - I is true while statement - II is false. {
(4) Statement - I is false while statement - II is true. { f
10. Match the items of List - I with the items of List - II and indicate the code of correct matching.
List - I List - I | !
(a) Technological advantages (i) Managerial economies|
(b) Large scale purchase of material (ii) lj]/génomies in transport and storage
inputs |
(c) Specialized departments under (111) /Econamies ji jin marketing
Specialized personnel
(d) Oil companies having their own (iv) Econo;:l?b in productlon
fleet of tankers
Code :
@@ (b (9 (d) “{
(1) @v) @) @ (@) < {
@ @ ® @ O |,
() @) @ @ @) _
@4 (v) @ @) @
11. Manufacturing of T.Vi sets and refrigerators and their pricing in India belong to which one
of the following market stfuctures ?
(I) Monopolistic competition (2) Perfect competition
(3) Monopolx (4) Oligopoly

12./ Statement - I : “Pricing at par with the market price of the existing brands is considered to
be the most reasonable pricing strategy for a product which is being sold in
a strongly competitive market.

Statement - II :| Pricing below the market price has been found to be more successful when
' a seller intends to achieve a prestigious position among the sellers in the
locality for selling prestigious goods of much superior quality.
Code :
(1) ¥ Both the statements are correct
(2)  Both the statements are incorrect
(3) Statement - I is correct while Statement - II is incorrect
(4) Statement - I is incorrect while Statement - II is correct
S T —
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10.

11.

12.

HUT - 1: 90 T YSil 1 Fo HH ARG 70T STIHATH ST HaArS & fot Si&dt € fob <1 sTmail
o T 3TFTH 3CTGehdl Sl STIUM 3eh SiHd ST o eR BT ATMGT |

HYA - I : Teh HIcq(Teh ST He 1 TR &1 &
Q=-L3+15L%2+10 L

e Q = SIS i UET 3R L = Ufiedsiet SMTd (59) i 9=, 99 99 i o difdes Scargehdt

fER € : — L2415 L+10

e

(1) < e T T y

(2) <RI YA e E | {

(3) HUF - 1T T @k FUF - I17TeTd 2| | f

(4) FF -17d € Efk FeE - I FE ¥ '

T - 15 TS 1 Gt - 11 TGl | GAAd I 3R FE 7S A1 e SR i
T -1 CwmRen L

(a) NI () e ferafry

(b) | ARG S FEq IHH W TE i) Tfee oo ser # faqeafiard
(c) fafere =i & ol fafom fasm [ (i) ;}jﬁﬁm@:ﬁrﬂ

(

d) o Sl % e @ SR H G | (i) SECACEC IR

il @@ () (o) (d)

(1) (@v) (@) (@) (i) N4 f
(2) @) @v) @) @ « 1

() @ @ @ ) oy <

4) (v) @ @) @O

IR | & &t T T ARsie 1 0 Ta 37eh1 Fimd FuRe 9 § 9 %A 9SR 9= 9 9afia
g7 P
(1) THIURRIHR srﬁﬁwa‘q (2) ot yfqequt

(3) ThIYSN | (4) ST

T - 1: Toh &g S S Toh TR T STSTR H S ST ST ¥ S6eht fn s 1 9w
I IR e e Fordl e hiwa e =gg T 7 S €

YT - 11 : e U okl SISR ¥ Ueh T % Teshdrel 3 s e et e o % e

3 foheq o) TSe agell Sl 9 o T aeiR v § = s e s §
Fhsﬁlvqlq T I S ©

e :
(1), 3 o @ ¥

2) ¥ 2 e wE T ¥

(3) HF - 19 ¥ Tk e - I1 9El e 2|
(4) HUF - 1EE T ¢ oI HeH - [T T
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13.  Which of the following statements are true ? Select the correct code.

(a) The coefficient of rank correlation has the same limits as the Karl Pearson’s coefficient
of correlation.

(b)  The coefficient of correlation is independent of the change of origin but not of scale.

() The covariance between X and Y is defined as 2y where x = (X = X), y= (Y - Y)
n 1

. . I
and n = no. of paired observations. \
4

(d) bxy is called regression coefficient of X variable on Y variable. {

[

(e) If bxy is 0.4 and byx is 1.6, coefficient of determination would be 6.8.

Code : - ' )
(1) (a), (b) and () @ @ @ad@ {
B) (o) (d) and (e) 4) (W(C) and fe)

F i i

/ . J

/ f
14. The application of x2-test as parametric test w‘l be in which one of the following
situations ?

r
J

1) Test of independence of attributes —

)
2)  Test of goodness of fit of a spe;ifib type of distri[;)ution

(1)

(2)

(3) Test for population Variakn?é 6n the basis of small sized sample variance

(4) Testof homogeneity of Several populations with respect to some characteristic of interest

i,

-

15. In which one of the fg)llowing situations is the application of t-test is most appropriate ?

(1)  Testing the significance of coefficient of correlation between paired observations of
small sized sample

/ (2) Testing théfsignificance of coefficient of correlation between paired observations of
large sized sample
(8) Comparing variances of two small sized samples

(4) ; Testing the significance of the difference among mean values of more than two samples
| groups

16. Whi;:h'—of the following is not a logical data structure ?

(1) Chain (

Stack (3) List (4) Tree

2)
A ;

)
a7 |
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13. fr=fafed serl § § 9 @ 92 € 2 W& %2 g
(a) & WE-Heay Ui w1 IH & S el € SEl Hrel  Fre ok Heda Y one & |
(b) TGS TN ITM  IRGAH § s gl § W 9 & T |

(€ S x=(X-X), y=(Y Y) T n=3e0 JH H G & q X 3 Y =l &% " ¥
fereror f=ER g9 st § -

2y

n
(d) bxy I X TR HY TR YT Tedse g g
(e) A bay 0.4 T byx 1.6 B 1 F7&i0T T[Tk 0.8 BT
e

1) (a), (b) ¥R () 2) ,(éf (0) ¥R ()

M
j . J
() () () () @) [ @), <cxsﬁ?_.ke)

14. e # F-w0 aftfeofs § 12 whemn Wt W w9 5 S S S ?
(1) 7Ol St ST T wreTo i ;"‘ |

(2) e fafer woR ¥ foaer §1, TSR S R 1 e

(3) T STeurHR Fexl & foremor 3 SuR W T % fa=eor o1 s

4)

WWW%@W%%&RWWM@W@@W
w |

15. e % - qRfeed § edem @ s o A #2

/(1) ereq SRRk el o FfHa Yeroil o St Hedsiel orish i WEwl shi THeT0 e |
@) e e ﬁ%ﬁ%gﬁﬂaﬁmﬁ%ﬁamﬁagﬁaﬁﬂwwqﬁwml
(@) 2 1Y R o Tawl o for=mul i g wE |
(@] % e Frelt 3 TR 3 sh 3 TeeT = we

2

4

)
ko
4

16. TFrefafed § & SHH-H1 GehETTd 3Tl TLEAT &t ¢ 2
(1) et 2 & (3) §= (4) I

)
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17.

18.

19.

20.

N-00817 \|H||“||“||H|

o

Match the items of List - I with those of List - II; and choose the correct code of combination :

(@)

(b)

List - I List - II
A committee consist of a group of people () C.I. Barnard
specifically designated to perform some
administrative work
Staff service in organisation means the service (i) W.H. Newman
or advice or council, as distinguished from
the function of authority or command .
Organisation is informal when the aggregate (iii) McFarland {

interpersonal relationships are without 4
conscious joint purpose ,
An identifiable group of people contributing their (iv) James D. IIfMooney
efforts towards the attainment of goals is called

organisation : 4
@ ® © @ P \

@ (v () i) -

(iv) (@) (i) (@) ,.'f |

(iv) (i) @[1) () | ' [

O @@ (v) (i) ]

Which among the following is not a physical barrier of _c_tognm'imication ?

(1)
()

Statement - 1 :
Statement - II :

Code :

(1)
2

()
(3)
4)

Assertion (A) :

Reasoning (R)

Poor vocabulary %
Improper time

(@
@)

Noise f
f Overload information

‘\,

Managementl cé)ntrol seeks to compel events to conform to plans.

Controlling is determining what is motivational to the employees of the
organization.
il -

Statement - I is corrett but II is incorrect
Statement/- II is correct but I is incorrect
Both the statements I and II are correct
Both the statements I and II are incorrect

ound planning is one of the essential elements for the success of corporate
entities.

;| Planning is deciding in advance what is to be done. It involves the selection
of objectives, policies, procedures and programmes from among alternatives.

Cd‘de :

OF
(2) -
)
4)

' Both (A) and (R) are correct and (R) is the right explanation of (A).

Both (A) and (R) are correct but (R) is not the right explanation of (A).
Both the statements (A) and (R) are incorrect.
(A) is correct but (R) is incorrect.

10 Paper-II11
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17. eIt -1 A &l Gt - [1 & T&l 9 GAfad HIfe AR 981 e JaeH g |
Tt - 1 T - 11
(a) T AN 3 GRS HE 6l v o OREET ()  HLITE. TS
Y frgea 1 S R, fod safaqdi o6tk wE 2 B

(b) HTSH H W% A1 FHART a1 & AR WHS A & 5 (1)  S=g LA =[HA

SAfereR =1 f1dem § fira B B
() o% WA SH=Ieh T food oueht Heie s|meet (i)  HHRRTS
T IZe¥d  faw od & /
(@) e Pl e o 5 g o g e ) 9 {
ST 9Tt STt ST & HTST Fed € |
<< :
@@ (b) (o) (d)
1) @ @v) @ () , 4 [
) (v) @) (@) () A P
®) (v) @) (@) () 4 ]
@ @O @ @v) () / '

18. ﬁﬁ%@ﬁﬁ@ﬁ?—@@ﬁﬁ%@%ﬁ%? L}
(1) VSTt sl Al (2) TR __/d
(3) TR A %.k(4) SR o

19. weF-1: Wﬂﬁﬂﬂﬁm&ﬂ%m@mw%mm@aﬁmwm%
FO - 11 T T % FAaIE 3 fou i 0 & sae Fiefes ferm 3
<< :

(1) Wlﬂﬁr%ﬁﬁllwqﬁ%l
(2) U IEE ¢ fohg 1 W& & 2
(3) w1 3ARTI <1 w2

(4) o I SOIL 3 T T ¥

20." 3R (A) : é@?ﬂwﬁﬂhﬁvﬁqﬁaﬁaﬁﬁwﬁsm@aﬁaﬁw%l

e (R) : e FIR) @ foRar S S IR § TRt fvig o ® ) s fasedt § @
: l@ﬁ,ﬂﬁ?ﬁ,mﬁaﬁimmwmm%l

e :

(1f~ (A) IR (R) SH1 F € 3R (R), (A) F1 Hl A ¥

() f(A)W(R)ﬁﬂﬁ%ﬁﬁ(R),(A)aﬁﬂﬁm?ﬁ%l

(3) W(A)aﬂumﬁﬂﬁrﬁ%n
(A) W@ T fhg (R) ¥t 71 21
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21. Match the items of List - I with List - IT and denote the code of correct matching :
List - I List - II
(a)  Acceptability (i) Convenience Aspect
(b)  Affordability (i) Functional and Psychological Aspects
(c)  Accessibility (i) Information and knowledge Aspects
(d) Awareness (iv) Economic and Psychological Aspects
Code \ y
@ b © @ ¢
M O @ @ "
() @) @@ @O @) : y
G) G @) @ (i) : & '
@) @ @ @ i) v | ‘
/ |'
22. Match the items of List - I with the items of Iri'lst -1I Whicl_jl are related to dimensions of brand
personality. Denote the code of correct matching. [
List - I 1 t-1I
(a) Sincerity % (i) Upper classy Cfllarming
(b) Excitement < ( k(u) Reliable, Intelligent, Successful
(c) Competence Y € (i) Down'to earth, Cheerful, Wholesome
(d) Sophistication - (iv) Outdoors, Tough
() Ruggedness (v) Spirited, Imaginative, Up-to-date
Code { -
@ O© @
1) () @)y @ @) (@)
A2 @ Gv) ) (3 (V)
G @ ¢ 0w
@ @ @ G ) )
' |
23.  One of the techniques of stimulating creativity for developing new product where you start
withl_an idea then thinking of the next idea and link, then think of the next association and
do this with all association that come up with each new idea, is known as :
(1) Attribute Listing (2) Forced Relationship
New Contexts (4) Mind Mapping
N7 \II\II“II“ LT 3
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21. e - [ &l H&1 & el - 11 91 gafea s AR = ST 73 98t e &l i &

T - 1 T - 11
(a)  FeTeRTE (i)  Gferen ua
(b) @& &\ (i) TRMACTER SR TG &
(c) srfmTeyan (iif) = AR I 9
(d) sifgan (iv) o SR AeTET vat
%< : {
@@ () () (d) f
1 @ @ @ @)
(2 @) @ @O @)
3 @) (@) @ () J -E_
@ @) @ O G = b
// ’

22, IO Al | Galfed A o el - Iﬁﬂ?ﬁ'ﬁ!ﬁﬁ Ilaﬁﬂﬁé&wagﬁﬁaaﬁlﬂ'@?ﬁ

Hucicad \
Tt - 1 et - 11 Q/
(a)  TiHar (i)‘ 31 o, HARA ( -
(b) SRl < (i) “fervereri, gfgEM, wwa
(c) GH Y (i) ST E o1 g3, GRIrHSS, feaert
(d) GHER (iv) 9T, oR
(e) SR (v) Sieien, HeaTRid, ST
e { (
@ ®) [ (d ()
1) (v) () g (@) (i) (iv)
g 0 v) A8 0 )
LB () (v) Fi) v@m o @)
@) @@ @ G () (i)

23. ﬁ&qﬁaﬁﬁﬁﬁwﬁ%mmﬂwmmaﬁswﬁq T ! dehrilehl § H Teh ST&I 319 Teh foaR
% T TRY FA ¢ R 31Tt foaR & o § T € 3R 38 Sied €, 39 915 3Tl ey % 9N |
Hred € SR weft Felel % Hrer Qa1 e qoh T & e b Tk 1 freR Sl W@, 6l ed ®
(1) o1 GG (2) AU Gy

(3) el HeH (4) wfETsk gfdfaem

raost VAN .
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24.

25.

26.

27.

Statement - I: We are motivated to re-evaluate our beliefs, attitudes, opinions or values
occurred at two different time.

Statement - II : The difference due to some intervention occurred at either point of time
motivates us to search a newer option and thus satisfies our mind/ anxiety.

Code :

(1) Statement - I is correct, Statement - II is not correct.

(2) Statement - II is correct, Statement - I is not correct.

(3) Both statements are correct. f

(4) Both statements are incorrect. .'I";

Operating Leverage and Financial Leverage of a firm are 3 and 2, respectiv;ely. If sales increase
by 6%, then earnings before tax will rise by :
(1) 18% (2) 12% (B) 36% . (4) 30%

'

(
Match the items of List - I with those of List - ILand indicate the correct code :
List -1 ist - I

(a) Net Income Approach @) Worlémg Capital Management
(b)  Profitability Index (ii) Over- Capltihsatlon
(c) Concentration Banking (iii) Capital Struttire Planning
(d) Lower Rate of Return (iv) Capital Budgeting Decision
Code : %4 f

@ () (© (@ 4 [ '
1 @ ) 6 @y,
(2) (@) (@v) @@ @ =
(3 (v @ @) @
4 @ @) @ !:' (iv).

L

Statement - I : | In payback period method, the risk of the project is adjusted by lessening
‘4 the target payback period.

Statement - II : Sensitivity Analysis helps in calculation of net present value of the proposal.

" Code : f

(1) Statement -1 is correct, but statement - II is wrong

(2) Statement - I is wrong, but statement - II is correct

(3)" Statement - I and statement - I, both are correct

(4) Statement- I and statement - II, both are wrong

L]

28. Divi::le.pd irrelevance argument of MM Model is based on :

(1) Hedging (2) Issue of Debentures

(3) Liquidity (4) Arbitrage
s T 1
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24, HAT -1: 30 S st g o wfeq gu stom foreemsi, stfefaei, wdl steren gedi sl QI exifRd i
o forg 9Ra 8 2|
weA - 11 : Tt off T W forelt TXaeid B9 o SRl g8 foeran g6 19 fashed &t qamn o fag fa
FA T 3T 30 YR g1 3T Afadsh /3fgran =1 TSP+ 2
f: T -1 L T, A - 11 T S
(2) A -1 FR G, FHoF - [T 8 5|
(3) S HUH HRI B | /
(4) S %o T £ | 'ff‘
25. et v o1 afErer e iR foita 3deme o 3 3R 2§ 1 afe fasnt 6r/ Tﬂ?ﬁ g, A
s ¥ gfg 2t :
(1) 18% 2) 12% (®) 36% ,_- -’;(4) 30%
26. G - 1% T&l g - Iliwﬁwmwﬂ@ﬁﬁﬁm
Tt -1 ;’iﬁﬁ" -1
TR Ly
(c) hesiigpa SfehT (iii) I @i
%:Wﬁﬁﬁra (1vikﬁwﬁ'ﬂ?
@ () (9 (d N 4._;:
1 @) @) @ @ N4
(2) (@) (v) (@) @@ -
(3 (v) @) (i) (@)
4) @) @) () { (iv)
27. U -1: WA Srfel Tl § wifi TeAred ST o ohH e TRET & e S
U fefam ST %
, AT - 11 WWW%%WW:@W L T TR Al ©
.' F: HUA -1@4%, %%W-IIW%I
(2) U - 174 B, fohg eF - 11 921
(3) o - 13K ke - NS W €|
(ﬂ FA - I IR e - 11 IH1 Toid € |
28. TH UH TR o Sl STHTHTRAT a7 SR § :
1) @ (2) RUTEEl 1
(3) e (4) oS
aed T s Paper
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29.

30.

31.

Match the items of List - I with List - I and indicate the correct code of their matching
relating to human resource management philosophy :

List - I List - II
(a) Rational System Approach (i) F.W. Taylor
(b) The Ahmedabad Experiments (i) Max Weber’s theory of bureaucracy
to improve productivity _
(c) Social System Approach (iii) A.K. Rice  a
(d) Functional organisation concept (iv) Hawthorne studies ,r" )
Code : [ F
@ ®) © (@ '
1) @ @) @ o Y- P "
(2) @) @ @) @ — B -
G @ @ 0 @ y A
4) @) @ @ (@) \
Which one of the following is not a method of decéng acgeptable level of reliability or
consistency of measurement in selection methods ? -t
(I) Regiocentric approach ( H(Z) Split half method
(3) Test related method ( € (4 Expectancy diagrams

Put the following steps ofidiscrete selection process in correct sequence and select the correct
code : i

[
Preliminary intervie\ir
Completian of application blank
Background investigation

Physical examination

e) Employment tests
) f Comprehe.psive interview
g)lk Final employment decision
Code :
M @) @ © @ @ 0 @ @ ®) @ @ 0 © @ @
(3) @ ®) @), O © @, (@) ) @, 0) @ © @ @
s VRV 1
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29. eIt -1 Al 1 el - 11 o Al § FAfad FHIfTC SR I HE1EA o 34 9 Hafed 3k 3a

30.

31.

(3)
o7

(

(

© TofE
L@ ar@rﬁasw;}‘

(

(

(

%1 Hal he AT It |
et -1 et - 11
(a) TehTITH Tgfd IUTH (i) THS=Y, T
(b) ITAICHAT IH o AT STEHEAE FAFT (i) AThLME! hl Had IR 1 Fagr _
(c) WIS Yoredt ggfd (iii) .. TEH .
(d) PR ST TR (iv) e st L
&e {
@@ (b) () (d)
1) @) (v) (i) ()
(2) @) (@) (@v) (@ Y i
G ) @) O G A
4) @) @ @@ (@) r_# .
T UG T A i forvedran 9 GEITad & @i S oh e w asfd e | 9 S 1@
22 —
4
(1) GfSsidfzs Surm ( ) %rmmfa?é Tgfa
(3) whew Hefm wgfa ) ? C @ v e

gersh =9 Ufsha & TeAfafad swedl o1 @&l A 1 W qen Wal e il =97 i
a) Wi e (

b) ek @ i qof AL

c)

e) AUSHIR qdero

)/ HH HETHR

g) ifm deR Frof

Ty

1) ®) @ © @ @), 6O @ 2
@ ©, @, @ (4)

, (b), (&), (), (c), (d
HITHARER Y

e
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32.

33.

34.

35.

Match List - I with List - II relating to wage theories and its propounders and indicate the
code representing correct matching :

List - I List - I1
(Theory) (Propounder)

(a) Subsistence Theory (i) Karl Marx
(b)  Surplus Value Theory (i) Francis Walker
()  Wage Fund Theory (iii) David Richardo
(d) Residual Claimant Theory (iv) Adam Smith :
Code : \

@ () (© (d s
O @ @ 6 G ; p
@ @ O @
@) (@) O () G _ ;
@) G @ @ 0 *. *
When was paper currency first started in India 2 !
(1) 1542 (2) 1611 ‘( 1705 | (4) 1801

‘RWA’ with regard to capital adequacy stands for h1ch one of the following ?
(1) Risk Withdrawal Adjustments Rlskv\} drawal Arrangements
(3) Risk Weighted Assets (4) Risk-fre We1gl;1,t'ed Assets

Match the items of List - I with List ?.H and denote tf\e code of correct matching :
List - I e List - II

(a) Future (i)  Comsists of purchase or sale of commodities in two different
"markets with the expectations that a future change in price in
one market will be off set by an opposite change in the other
market

(b) Swap A contract in which a seller agrees to deliver an asset to a buyer

at a predetermined price at some future date as privately

! negotiated
(c) ~ Hedging & (iii) A contractual agreement for exchanging a steam of payments
with opposite and matching needs, to reap the benefit arising

due to market discrepancies

A contract covering the purchase and sale of physical
commodities or financial instruments for future delivery on a
future exchange floor

(d) Forward f r (iv)

L@ B @ @
WY@ @) @ 0
@" @ @ @) W)
@ & 0 @
@ @ @ 0 @
s LT "
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32.

33.

34.

35.

(4)
o7

oGt fagT=il aen s9 wfaureenl o Hey § el - 1 31 Gt - 11 1 Gafed shifsie qe el 7e
T aTel e i AT HIfT |

et - 1

(FgT=)
frate fagr
st qou fagr
megdt iy fagr
F1eRIY SrEeR fagr

IRA H HITST G el TRY T3 2 /f" ”

1) 1542 )

et - 11
(wfeuTeeR)
() el T
(ii)  RITEE o
(iii) Sfore fenrel
(iv) TeH =y

(

1611 [8) 1705 [ (4) 1801

T s T 3 e isf e ¥ wed # Frefofad # % w gatE $2

1)

(3) Shfem wifia Hufar

Shifem fAfewar gHrEsH

Shifey fAfEar soeeen
SfEw

(2)

(4) ! e

el - 191 et - 10 e gifem 7% Feet frem 7 Fafed %

et - 1
TR ()

o

(ii)

(iv

(i)

)
QTN

{ (i) r

_ ﬂd_ﬁr et - 11

gl 1 < fafie areml # 39 3w & w1y e faska mite ® &

“gfgs § Tk IR H 2 W o qiend it Afayfd g aeR 3 81 ®

faadia gftads @ & S |

T Gfeer fSaH shal 1 Teh fashaehal Teh Tufd o1 s 9 | fowd
| T OR % ER w qd i S w R § R Rl w

Geit o forg wewd g1 ¢ |

TSR hi hiHd] § 3] oY hl 98 1 & foU T Gioer Tusian

fored faadia wa §HM STeedehdrstl o fu iam i dieafed foha

EicES

ek Hfaar FaH wifes aqsil steren foriia |reHT o1 Teh TR =

% 7 W sy # gyt & faw swa-fosha w1 wmew 7
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36. Which of the following are the forms of e - banking ? Select the correct code.
(a) Internet Banking
(b) Telephone Banking
(c)  Electronic Cheque Conversion
(d) Electronic Bill Payment
(e)  Direct Fund Transfer Through RTGS
Code : f
(1) (a) (9 and (d) (2) (@) (), © and () /
(3) () (0 and (d) @) @) (b)) @and(@E) ;
37.  Which one among the following has the largest share of exports from India'?
(1) Agriculture and Allied Commodity d { _
(2) Gems and Jewellery . f !
(3) Handicrafts f'// |
(4) Electronic Goods r-"l ! _,'I
38. Which one among the following is not a part of TRIlﬁégreement ?
(1) Industrial Design " (2) Geogra@liceﬂ I';ldicaﬁons
(38) Interior Design ) Layout Designs of Integrated Circuits
</
39. Which one among the follov.\Ling|1I is not correct ?
(1) IMF’s headquarters is in Washington, D.C.
(2) IMF has 198 Co!li.mtries as its members.
(3) IMF is an outcome of the Bretton Woods Conference.
(4) IMF was found on July 7, 1944.
|
40./ Statement - I : “Served From India Scheme (SFIS) has been replaced with Service Exports
rom India Scheme (SEIS).
Statement - II : The rate of reward under SEIS would be based on net foreign exchange
- | earned.
Code : |
(1)I'n Statement - I is correct but statement - II is incorrect.
(2) Tfl. Statement - II is correct but statement - I is incorrect.
(3) Both the statements - I and II are incorrect.
(4) Both the statements - I and II are correct.
s T 2
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36. fAfafEd § § o1 | -9 % W& € ? & He H 997 F |
(a) 3 SfdT
(b) <ERM dfRT
(c) soieifer = afedH
CORENERIRENECIRNUGIE
(e) RTGS GRI bl ol Te&l TRAALT
%< d
1) () (© 3 (d) @ (@ (), (© 3R (d) {
(3) () (0 ¥R (d) @ @ b @ @ReE | [
37. 1= ¥ 9 fhoe, vra 9 fafd & w9 a1 fewa §2 J
(1) %—ﬁq SR Feiferd W {
(2) T AR My V| ’
(3) TEred /
(4) ToERIeR WM
38. T H @ oF-91 Tk & 1R TE 0t wF (fr) wsﬁmaﬂéﬂaﬁ%7
(1) sieifis sifueme L Q) e
(3) TARR fesmA ""H;‘r (4) Tehishd Ry & o SAfyshey
39. e # Q4 wH-w w2 --h .
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(2) ST qE1 HIE % 198 W ¢ |
(3) SRS g W e TR R £
(4) aﬂﬁgﬁq?aﬁﬂaﬁww7ﬂws‘,1944ﬁ§§|
20.( e -1: wa d Al A (T U o wH) W 4Rd @ e i dee (oE $ o w) @
e T B
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e |
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41.

42,

43.

Match the items of List - I with those of List - II and indicate the correct code :

)
2 (3) (a) and (b)«

List - I List - I1
(Accounting standard) (Relationship)
(a) AS-6 (i)  Accounting for Consolidated Financial Statements
(b) AS-3 (i) Accounting For Fixed Assets
(c) AS-10 (iii) Depreciation Accounting
(d) AS-21 (iv) Accounting For Cash Flow Statement
Code : i

@ () © @ y
1) @ ) @) 6 {
@ @) @) @ ) ( [
@) v @) 0 @ '
@ O @ @ @) :

{

[

Which of the following statements are False ?e?dicéte ;’Ehe correct code.

(a) RBI has prescribed guidelines for the opetrations of ¢redit rating agencies in India.
(b)  All venture capital funds in India have/been promollted by Government.

(¢) A mutual fund can operate as venture capital fun_d.

(d) Credit rating is an authoritative guarantee regX?ing the credit position of a person.
Code : Y,

(1) (@), (), ) and () WO @) 0w

(3) (a) (b) and (©) ‘@ (@ ando

. ﬁ){
Which of the following are the éxamples of systematic risk ? Indicate the correct code.
(a) Elimination of Government Subsidy

(b) Increase in Bank Rate

(c) Labour Problem = “

(d) High Levered Fund |

Code : !

(1) (a), (b) arid (©) (2) (a), (b) and (d)
(@) and (d)

(4)
Which of the follfwing are the benefits of responsibility accounting ?

44.
(a) It facilitates the centralisation of decision taking.
(b) P It provides a system of closer control.
(c) It measures the performance of individuals in an objective manner.
(cl)'k . It develops a sense of cost consciousness among managers and their subordinates.
Code :
(1) (@) (b) and () (2)  (b), () and (d)
(3) (a) (b)and (d) 4) (@) (¢) and (d)
s T S
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41. G - 1! TG 1 il - 111 9a) 9 Gferd hifse q91 ¥l e ey
T - 1 et - 11
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@ @O @ @) @) > B
42. frefafea & § $1 & FHo T § 2 W % 30 i \
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<
1 @ O © T ﬁw
() @ O ()
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(a) TN TWEE-T 1 SHeH
(b) % H gl
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(d) A IR DI { (
e
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fG) @ #R (b) # 4) (a) 3R ()
44, TrAfafEd § ¥ SH-8 SREIE ordisT % o § ?
(a) g Fofa o H=TehtoT ol FH Ll 2 |
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(1) (@), (b) 3R (o) 2 () (© ()
(3) () (b) 3R (Q) 4 () (O 3R (d)
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45.

46.

47.

48.

49.

Which of the following statements are True ? Indicate the correct code.
(a) Tax-shield on depreciation and interest is an important variable both for lessor and
lessee.

(b) A lessee may evaluate the lease options as against the buying option.

(c) Sale and Lease-back, and leveraged lease are types of financial lease.

(d) Lease financing is a type of capital budgeting decision from the point of view of the
lessee.

Code :

(1) (a), (b) and (d) (2) () () and (d) f

(3) (@) (¢) and (d) 4)  (a) (b) and ()

"

Which one of the following methods of Inflation Accounting has been proHosed by Sand.llands
Committee of UK ?
(1) General Price Level Method

(2) Specific Price Level Method - ¢
(8) Current Cost Accounting Method "
(4) Generally Accepted Accounting Principles . & A (
-
Which of the following are the motives of metgers|? Indlcate the correct code.
(a) To gain the economies of scale. / - f
(b) To utilise under - utilised resources. | _-"I
(c) To break the monopoly. \
(d) To reduce the tax liability. fl F
Code : S

(1) (a), (c) and (d)
(3)  (b), (c) and (d)

(@ (@) (b) dnd (d)

< ;; (4) (a), (b) and (9)

A research technique used paMularly in retailing (online and offline), in which consumers
are recruited by researchers to act as anonymous buyers in order to evaluate customer
satisfaction, service quality and customer’s own evaluation of their experiences, is known
as : .

(1) Consumer Jury! ( (2) Projective Technique

(3)  Mystery Shopping (4) Semiotic Research

-

Match the items of List - I with items of List - II and select the correct code of

matching :

Llst - List - IT

(a) Market Leader | (i) Avoid hostile attacks on rivals
(b) Market Challenger (i) Attack the market leader
(¢) _ Market Follower (iii) Provide high level of specialisation
(d) Market Nicher (iv) Attack the market
Code :
@ (k) () (d)
(1) ¥ Gv) (@) @ (i)
(2) @) (v) (D) (1)
(3) (D) (@) (v) (i)
@ @ @) @Gv) (i
e il 2
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45. frafafed sl § 9 FH- 92 €2 & %2 3 Ffew
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(1) ¥ Gv) @) @) (i)
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50.

51.

52.

53.

Which of the statements are correct ? Select correct code.

Statement (I) : Opinions can be described as the slow responses we might give to opinion
poll questions about any issue.

Statement (II) : Attitudes are held with a greater degree of conviction, over longer duration
and more likely to influence behaviour.

Statement (III) : Values are held more strongly than attitudes and underpin our attitudinal

behaviour.
Code : ¢
(1) () and (II) (2) (1) and (III) (3) (D) and (III) 4) « (@D, (I ar,:,d 00))
{
Which of the following is not a major aspect of digital marketing ?
(1) Jurisdiction (2) Ownership (3) Security - (4) Entertainment

{

[

\
Which of the following statements are correct ? Select the correct code.

Statement (I) : Horizontal conflict between/channel members is caused due to channel
members impinge on the matket territory of other intermediaries at different

level. f 1 _

Statement (II) : Vertical conflict is caused 'due to i ’#se price competition, disagreement
about promotional activities, attempts to bypass intermediary and distribute
direct, differing expfctatlons as to chafiriel or intermediary performance.

Statement (III) : Hybrid channel corﬂ,fhct arises due t9 grey marketing.

Code : \ N L
(1) () and (III) = | (2) () and (II)
(3) (II) and (III) 4) (@), dI) and (III)

i,

-

[
Which of the following statements are incorrect ? Indicate the correct code.

Statement (I) : | As consumer’s income increases, the percentage of income spent for food
* 4 items decreases, for rent, fuel and light remains the same, for clothing remains
jthe same and for sundries increases.

Statement (II) : ﬁoei‘etal marketing period was from 1960 onwards.

Statement (III) : Our debt to social anthropology decreases more and more as we use
_'qualitative market research approaches.

Statement (IV) : The economic concepts of perfect competition and matching of supply and
'. demand underlie the marketing concept, particularly in relation to the
L concepts of the price at which goods are sold and quantity distributed.

Codfe :
1) () and (11) ) (IT) and (IIT)
3) (1) and (IV 4) () and (IV)
N7 \||\||“||H||\|H\|“|\H||||||||||\|H|\|H||||H|\|||H|| 20 Paper-
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50. W H e TEl © 2 W& He N 9T R |
HIUT (I) : Te I, fhdl ge o o | 5o e fondll SHa 9U8 & fau g&a TR < €, o Ry avi
R TR € |
HA (II) : Tfgfa awstt stafy s Ar=rmell & @1 o € IR U SFaeRr 1 guifad d |
HIT (1) : g, TGt o | 1fass gedr ¥ TRifSd 8 € a1 Saerfary sIesR &l 31

I € |
% ]
1) (1) 3R (D) (2)  (I1) 3R (110) (3) (1) 3R (1) 4) (@), (I1) 3R (1)
I’ I
51. freifera & & @1t fefStea foaum o1 g ver =1l €2 ’
(1) &=HsR (2) @t (3) &l '*, L(4)  TERSH

, {
52, ferifed & ¥ i § oo Tl ¥ 2 Wl e B S SIS |
HO (1) : <1 Tl 5wl A s e e e % g faf T o s T 3
TSR & | SATTsRAT 3 % HROT BT € | /
HYT (1) : Hed Here, Hae nidfeied # sreedtd, doges Fiaeqei, Ay i g’ hid qe
Heredl % wev % favg fum-fuer smiensli & 2R 3o g |

YT (I11) :W%ﬂﬁ#ﬂég@wﬁﬂﬁﬁn%wa{[%l
% \ - 4_{

OEROEI A @ oskam

(3)  (II) 3R (III) @) (1), (I1) 3R (110)

53. Freite & & % @ B e 2 T %2 W FR

HYUT (I): S ST YT T T e &, WIE T2 R A G w1 Fiwerd =edl 7, fohid, $oA wd

TehTOl TR THH TEdl €, ShUel o Telq THM Tedl § qe 37 Tafay aeqsti T e S ¢ |
[ YA (I0) e IO <hTet 1960 | TS T T |

He (1) : TART e faam R ot 1 @ 21fuss o2 ST § SS9 89 TS STeR
STTHUM RO 1 TN T 2

HY (IV) : I Wfereat s fagra ol Smufd qon =i 1 Aet Frovm sruRon fee w9 9

\ oTe et forsra <X iR wferafta aftamo =t sreemon § sriHied 81

%t

(1) (@ 3 () (2) (1) R ()

(3) (3R’ (1V) 4 (@3 a)
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54. Which of the following statements are correct ? Indicate the correct code.

Statement (I) : Virtue ethics is a form of ethical approach associated with Aristotle which
stresses the importance of developing virtuous principles, ‘right’ character
and the pursuit of a virtuous life.

Statement (II) : Utilitarianism is an ethical approach where an action is right if, and only if,
it conforms to the principle of utility, whereby utility is minimised and pain
and unhappiness minimised more than any alternative.

Statement (III) : “Deontological Ethics’ is an ethical approach where rightness orgwrongness
of an action or decision is not judged to be based exclus1ve1y on the
consequences of that action or decision.

Code : { r
(1) (D), II) and (III) (2) (D) and (II) 3) () and (III) (4) (1) and (III)

L

r

55. Assertion (A) : The matter of succession planning is often deferred,

Reasoning (R) : The succession charts need u’;}'}ost confidentiality. !

Code : / !

(1) (A)is correct and (R) is right reasonirllé of it.| |

(2)  (A) is correct but (R) is not the correct’reasoni%g f it.
(3)  (A) is correct but (R) is not correct statement. f? ;
(4) (A) is not correct while (R) is a correct statement.s« ¢

!
56. Bethel Maine of USA was the pipnger of which one of the following Laboratory training
methods of employee training}?
(1) Transactional Analysi§™ (2) Business Games
(3)  Critical Incident Technique (4) T-group

il -
57. Which of the following statements relating to appraisal methods are not correct ? Indicate
the correct code.

Statement (I) 4 The MBO program is built on the assumption that individuals always need
4 .ot be responsible and self - directed and thus need to be motivated to work
' Eow'ards objectives.

Statement (II) : Forced distribution method was developed by Karl Marx.

Statement (III) ; Peer evaluation and self - appraisal need to be done on well - defined
| parameters in check-list method.

Statement (IV) : Forced choice method consists of seven main factors on three point rating
L]

y scale.
Code L
(1) Statements ( ) and (II) (2) Statements (III) and (IV)
(3) Statements (I), (II) and (IIT) (4) Statements (I), (II), (III) and (IV)
a7 [ |||||||H| i 2
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54. TreAifena H © %9 § 91 WEl € 2 W&l e I A i |
HA (I) : AR Afderar 3% ¥ Traf-od Afae givshro %1 T ®9 8 St afeam fagri & fasm
TE TR AR SR T AReEM Sied & @ W SR ol §

YT (I1) : SRR o8 A SR T ST H1E %l haad qeft T& B § 59 98 ST
fagT % ST7&Y &1, fad STfita =gAaw 2t ® o1 << v §:@ et off o1 faeneq &

T H = & g _
W (I11) : Feslvdaitoena ifq’ T To A gfeson & el frdt srl =1 fofr i e
B 36 el = o o oo % STER W # o §9 9§ Sfisher, T Oh{cH?f 1
% : f f
(1) (D, (1) 3 (1) 2 (@R (3) (D) 3R () (4) _ (I i (mm)

55. IfUHAT (A): SRR Arsi 1 forory srgen wifiiq fozn sran &1~

e (R) : STFYSR = | sTefereh T?rtr—ﬁ'f;} T ) SR j@'cﬁ gl
< f, |'
(1) (A)FERMR) TR TA TRl |
@) (&) & frg (R T V
(3) (A)FE & fohg (R) W& HoM T T
(4)  (A) T T ¥ SECE (R) T TR ' Bl
56. 3THRER w1 99 44 FAfafed ﬁ;ﬁimﬁuﬁwaﬁmﬂw q5faa & Yades o ?
(1) WHeEele fagewo ™ (2) SEHTH TA
(3) ”ﬁ‘f‘fﬂﬂmﬁﬁ; @) FA-TE

{
57. e TSt ey i FieAfated #1 Q e w2 98 %2 @ € i
HIT () : TS N FEwy H FE 39 g=gar | B § % oafad 1 g @ SaRert qen
w1 P 2 A1 e T A1 R T e S S A A B e

et e 1
HYT (II) : oA qgfd o1 fashre shiel Ao o gR fohan T |
®A (II1) : THRY qodiohd IR ©-Hodiehd, Sid Yo Igia § GaRAMa AHeel W H &
SRR BNl T |

HYT (IV) : ST =937 TEfd H T fog % Sofiehor TAM W 61 T FRe MiHa e © |
Fe !

(1) @ (1) 3R (1) 2) A (1) 3R (V)
(3) U (1), (II) 3R (III) (4) A (1), (ID), (IID) 3T (IV)
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58.

59.

60."

Match the main concerns of HRD sub-systems given in List - I with List - IT and choose the

correct code of matching :
List - I
(HRD sub - systems)

List - I1
(Main concerns)

(a) Individual’s career (i) Competence

(b) Development of teams (i) Power

(c) Socialisation of organisation (iii) Commitment and integration

(d) Management of organization (iv) Values i

Code : /
@ b © @ ¢

M G @ 0 ) f

() Gv) (@) (@) () d

G) @) @ (@) (@) ' . f

4) @ @) @G (@v) 1 { (

-

Match the items of List - I with List - IT and iﬂc‘i:'cate the correct code of matching :

List - I / | [List-1I
(Wage Theory) f asis of determining wage)
(a) Subsistence theory () Caplta“? first set aside predetermined surplus
income d then decide the wages
(b)  Surplus value theory of wages 4 (i) Growtheofthe populatlon brings down to level
% of subsistence
(c) Wage Fund theory "h £ (iii) Balance claimed upon the output of industry
(d) Residual Claimant theoﬂy,‘i. ~ (iv) Natural price for labour
Code :
@@ (b) (o). (d)
1) Gv) @) @) ¢ Gy
@ @) Gy 6 )
@) @) @ 6@ @)
() ). @4 @) @

selection of wrong criteria during performance appraisal can result in serious

Statement (I) :
dysfunctional consequences.

Statement (II) :| Generally the evaluator becomes more critical about performance evaluation
| technique rather than which criteria need to be evaluated.

Code :

(1 ) _Both the statements are correct.

(2) Both the statements are incorrect.

(3) Statement I is correct while statement - II is incorrect.

(4) Statement - I is incorrect while statement - II is correct.

s LT .

www.examrace.com



58.

59.

60.

gt - 1 QU T Ae JHiee foashm st Su-yonfasi < qe S 1 gt - 1 g 7 TUai 9
et SifSTT qen 9 1§61 e g

eIt -1 e - 11

(UFaEareA faewm Su-yurret) (TS TUhN)
(a) =Aferd ol Sfted gfd () &
(b) 2 1 fashg (i) iR
(c) HTST hl HHATSIIHLT (iif) oG TR Tt
(d) TS o el (iv) HF /
e - {

(@ (b) () (d) { f
1) @) @v) (@) (i)
(2)  (v) @) (i) (D)
() @) (@) (v) (i) ke
4) @) (@) @) () y 4 | |
el - [ & Tal 1 g - Ilﬁ?ﬂﬁ@ﬁﬁﬂﬁﬁm@%‘;ﬁﬁaﬂ‘ﬂ%ﬁﬁgﬁﬁaﬁm

et -1 | . g1

(weieh fagr ) ’ {a frerfvur % gt )

(a) Trerie fagr (i) 7d Fuifa e snfeea < srem @
am%aﬁwnﬁswmgﬁaﬁﬁafﬁﬂm%l

(b) TSR oo ot fam ) mfﬁq@—ﬁaﬁ%%waﬁﬁéaﬁﬁ%l
(c) WGy wH fagra _ "‘M_'{ (iif) 3TN h JcdEA W FIferd I
(d) oro R fasr VA () o R e e
e

@@ (b) (). (d)
1) (v) @) (@) g (i)
(2) @) (v) (@) * @)
(®) (@) (@) |G ()
@ @ @), ) @

/ HET (1) : m?;wm@mﬁ;amum AMEE o 999 o TR STyehEicHs qRom ke
ST

HYT (1) : T oA Tkl 519 RS 1 Jediohd A ¢, ITH! ST&T e Fo91GH Feish
aarrﬁlm %1 3Tfueh TRl AT ¥ |

; AT e HE € |
)i ﬁww%
) U - 1 EE T Safh HAA - [T |
(4) YA - 17TeTd § W@ e - I HE R
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61.

62.

63.

64.

Which of the statements are not correct ? Indicate the correct code.

Statement (I) : Social assistance is financed by tripartite or bipartite contributions.

Statement (II) : Social insurance ignores the income and means of liable relation.

Statement (III) : Social assistance makes the beneficiary a first charge on the liable relations.
(

Statement (IV) : Social assistance aims at to provide maximum subsistence to those who can
not make it on their own.

Code :
(1) () and (II) (2) (I) and (III) i
3) () and (IV) (4) (1) and (IV) 4

{
According to which one of the following theories, differences in nomindl interest ratés will
be eliminated in the exchange rate ?
(1)  Leontief Paradox Trade Theory (2) Fisher Effect Economic Theory _
(38) Purchasing Power Parity Theory (4) Combined Equilibrium Theory
g L |i
According to the Purchasing Power Parity Tl}fgory, tHe level of foreign exchange rate is

determined by which of the following ? f i
(1) Domestic Price level (P) divided by for¢1gn price lev‘el (P*)
(2) P+*-P
(3) P-P* ‘f/ ;
4) P*/P __ &
A (
Match the items of List - I with istg- 11 and choose the correct code of combination :
List - I - 4 List - IT
(a) It abolishes all restricti,qns'i'on trade (i) Common Market
among the members
(b) It not only eliminates all restrictions (i) Economic Union
on trade among members but also
adopts a uniform commercial policy
against the non-members
(c) = It allows free movement of labour and (iii) Free Trade Area

capital within the common market

" (d) It achieves tome degree of harmonization  (iv) Customs Union

of national economic policies, through
a common central bank, unified monetary
and fiscal policy, etc.

Code : |
L@ 0@ @
Dy v) @ @ ()
(2) =) (@) @ ()
G) @) @Gv) @O @)
4) @) @ ({dv) (i)
s LT 2
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61.

62.

63.

64.

N-00817

i Y FHUT N 6 © 2 el he 1 9T B |

HA (I) : AT Herdl 1 foxitaa et = fguafa sfeeHl & g/ fohen S 21

R (1) : HHTSS ST STER Faiel Y 3T SR T1eHi shi I&T Il

Y (I11) : FTHINTS TRl TSR Haiel T el sl ugel J9R <ot 2|

HYUA (IV) : TS TEHIT 1 3299 7 <l o1 Afershad fafe Tem &1 © S @ W@ 6l &
Hohd |

<< :

(1) (D 3R (1) (2) (1) R ()

(3) (@ 3RIV) (4) () SR V)

L
I I
Frefafad 9 9 form fagr o STgaR fafma < H el =1 <0 1 S §HM @ S ?
(1) foasifer Trefem T = (2) frer yom= sfefes fagta |
(3) shavfwt gaar fagia (4) me@a (

Y e FAAT f95Id o STIER facw |q|4anWﬁﬂﬁF@'ﬂﬁﬁmﬁﬁﬂfﬁﬁﬁlﬂT%7
(1) e Fe R (P) F R TR (P e

(2) T - d9 ‘H’ﬂ

(3) W-d=g J

(4) e/ ¥ '

qﬁr-laﬁwﬁ-naﬁgﬁm%%éﬁxmmwww@qﬁm
et - 1 T - 11
(a) IO TEHl % o= AR et gt gfaey www @ S ¥ (i) I SR
(b) mqwmﬁquwﬁaﬁmawé sfdfer o9
aﬁ%aﬁﬁwﬁﬁiﬂﬁpﬁ%mﬁﬁwwaﬁm
R TR S S 1
(c) = THE WM ISR % e gm 3R gsht o ety duem gay (i) 9o SAuR &5
AR

L@ T Wéﬁﬁ‘q% qHfeRrd Aifgeh iR Tobrea Aifa (iv)  Hmmges gfwm

a1fe & HreAm & TP enfdfes Afadl & $2 8¢ 9 gHae
- '@Tﬁlﬂﬁw%l

a)

( d)
(1) ¥ @
(2 (
(3) (

(

(iii)
(i)
(it

i )
|H||\||\|

iv)
(i
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m 33 Paper-III

www.examrace.com



65. Assertion (A) : Indian companies have established subsidiaries and joint ventures in a
number of countries in different manufacturing industries and service
sectors.

Reasoning (R) : By restricting the areas of operations and growth, the government policy
seriously constrained the potential of Indian companies to make a foray
into the foreign countries.

Code :

(1) Both (A) and (R) are correct and (R) is the right explanation of (A). -

(2) Both (A) and (R) are correct but (R) is not the right explanation of (A). \ y
(3) Both (A) and (R) are incorrect. {
(4) (A) is correct but (R) is incorrect. i F

66. Statement (I) : Automatic variations in the exchange rates, in accordance with the
variations in the balance of payments position, tend‘to automatically restore
the balance of payments equilibrium." Y {

Statement (II) : A deficiency in the balance olg.‘ﬁaymerrts increases the exchange rate.
Code : ..'f |

(1) Statement (I) is correct but (II) is inconrect. _a'

(2) Statement (II) is correct but (I) is incorrect. ]

(3) Both the statements (I) and (II) are incorrect. 4'}

(4) Both the statements (I) and (Illhare correct. ¢ -
%

67. Which among the following is fiet gircorrect statement ?

(1) Designated bank refers t gany bank in India, which has been authorised by the RBI to
act as banker to FII. ™

(2) Domestic custodian includes any person carrying on the activities of providing custodial
services in resﬁect of. securities.

(3) Sub-account includes those institutions, established or incorporated in India, whether
incorporated or not, on whose behalf investments are proposed to be made in India by
FlIs.

4) A domesfc portfolio manager or domestic asset management company shall also be
f eligible to Bf registered as FII to manage the funds of sub-accounts.

68. Identify the incorrect statement from the following :
(1) .~ Broken-date contract is a full - month forward contract.
(2) Currency Arbitrage refers to making profit by buying a currency cheap in one market
\ and selling it dear in the other market at a particular point of time.
)

3) " Currency Futures Market refers to organised foreign exchange market where a fixed
y g & &
»amount of a currency is exchanged on a fixed maturity date in the pit.

(4) Currency Options Market refers to market for the exchange of currency where the
option buyer enjoys the privilege of not exercising the option if the rate is not favourable.

s | il 5
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65. SR (A): WRAF shufar = fafus fafoator e o) e e o sga 9 < § St suf1at

3R T STEl T T Y

@ (R) : g SR g & &l Sl UTa e ol TRhRI i o RO IR HACl hi
fogwr o yftrert fafe st Herean iR &9 3 =fed g8 7

e

(1) (A) 3R (R) SH T ¥ 31 (R), (A) T T ARAT T |

2) (A) 3R (R) 3 W& B g (R), (A) 1 TR = 76 ¢

3) (A) 3R (R) T Terd £ y

4) (A) T fFg (R) T 1 {

[
66. R () : A dqer i Tl H fafvear & srgar fafa <O+ . fafvea o wa: e
Hqe ATl IAeETe i i ggd et g | 4
RO (1) : qTaH Her H et & fofme o & sl &t € |

(

(1) e (1) ¥ €, fohg (D) 7Terd 21 f/” = |

(2) A (I1) T T Tohg (1) 7o g / |

(3) A (1) SR (11) AT T € ‘ \

(4) A (1) 3R (11) S = T d’l ,
f —

67. ﬁw@f@ﬁﬁﬁ@-—rmsﬁmﬂéﬂtﬁ%"‘ .

(1) ifa ¥ & A # feord @12 off T S Hehia & o sl frord 3 grar fardeft e
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)
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69. Dividends declared by Unit Trust of India or by mutual fund is :
(1)  Fully exempt in the hands of unit holders
(2)  Fully taxable in the hands of unit holders
(3)  Fully exempt in the hands of individual unit holders and fully taxable in the hands of
institutional unit holders
(4) Included in the gross total income but a deduction is allowed under section 80 L
I:; 1
70. Match the items of List - I with the items of List - IT and choose the correct answer from the
code given below : {
List - I List - II F
(Types of Income) (Heads-ef Income)
(@) Salary, bonus, commission, etc. received by (i)  Income from other Sources
a working partner from the firm r
(b) Pension received by the widow of a (i) Income from (short term) Capital
government employee “ Gains
(c) profits on the sale of machinery used irlll."r (i) Income from Capital Gains
business , 1 |/
(d) Compensation received from the QV) ' Income from Business and
government on compulsory acquisition Profession
of land and profit earned N
"4 (v6 Income from Salaries
Code : - ﬁ_{ -
@ ® © @ ¥4
® v @ @
(2) @(v) @) (b (v)
G ) @ @
@) (v) @ |4 ()
71. Which of the following will be considered as tax planning effort ?
" (@) Mr A purcfmaséd a house for self residence of I 80 lacs by taking a loan of ¥ 60 lacs
from SBI at|10% interest, instead of using his own funds.
(b) Mr. A made investment in purchasing 12% redeemable debentures of TISCO worth
=X 1.50 lac |
(C)l Mr. A purchased 100 gram gold biscuits of ¥ 2.5 Lac from SBI on the occasion of Diwali.
(d)\ , Mr. A invested Z 1 crore in purchasing 5 acres of agricultural land in his native village
_ in Gaya.
Code ¢
(1) () and (b) 2 (B)and(© () @and(d) 4 (o)and(d)
s LT .
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72. Assertion (A) : If the interest is payable outside India, tax must be deducted at source.
Reason (R) : If tax has not been deducted at source, the amount paid as interest will not
be allowed as a deduction in computing business income.
Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) (A) and (R) both are correct but (R) is not the correct explanation of (A).
(3)  (A) is correct but (R) is wrong. .
(4) (A) is wrong but (R) is correct. { ’
{ r
73. Under the Income Tax Act, 1961 the education cess of (2% + 1%) is calculategl on the amount
of : ¢
(1) Income Tax (2) Income Tax Plus J"sulrcﬁliall‘ge (if any )
(3) Gross total Income (4) Taxable Income
/ |'
74. Exemption, under Sec.54 F of the Income TaxIlI Act, 1961, shall not be allowed if the assessee,
on the date of transfer owns : i
(1) Any residential house fl 4
(2) A residential house which is leRout { -t
(3) A house which is self occu 1e(k
(4) More than one residenti-gl Jhoﬁse

75.  The income from the sale of a machinery used in business is treated as :
(1) Income from bqsmes’s and profession

2)  Short-term capital gejm

4 Income from other sources

F a
.r f I'|
-00o0-

(2)
(3) Long—te‘r% capital gain
(4)

st (1T s
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72. SMURT (A): I YRA & TR AT H IAH HIA T, A FId T HT 1 Holdt 379 Hl
=feq
& (R) : wﬁeﬁlﬁmwaﬁmﬁqﬁmﬁﬁwﬁﬁmﬂfﬂﬁwaﬁmﬁ
TUAT 3 | Tl &l fohall SR
(1) (A) 3R (R) T &t € 3R (R), (A) T T&l AT T
2) (A) 3R (R) I T § A (R), (A) T HE AT T T
(3) (A)WE & T (R) T €| L
(4) (A) T €, T (R) T 2 f §
73. ST AU, 1961 % ST=rid foIam IUhR (2% + 1%) W TTUMT A1 ST B | ;
(1) MW HIR (2) T F U AR (AR HE B, W
(3) HHhA FA AF W (4) ;ﬁ(ﬁqaﬁm
74. AR AfufEH, 1961 HF %m541zcﬁ%ai-cnﬁjw %ﬁﬁﬁw%ﬁm
ERe s ‘j
(1) IS TR 9o 2 | o
(2)  rE T v, S e W R g A |
(3) Trsi swrem &g g e Bl ﬂ_-{ -
(4) TF R Ao T A A
75. SR H W RIS foshd | W S 1 HA S g
(1) SR q&I § B (
(2)  STCTRTE Yt
(3) ST st @
[ (4) o=@ @‘Fm‘-.r
| . I -00o0-
a
oo [ TRARNRAI y
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Space For Rough Work
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